1. (−4)²=
a. 8
b. −16
c. −8
d. 16

2. −7²=
a. 14
b. −14
c. 49
d. −49

3. √144
a. 11
b. 14
c. 12
d. 16

4. 
 [image: https://provereznanja.rs/wp-content/uploads/2023/01/Nenaslovljeno.png]
a. 0,03
b. 0,3
c. 3
d. 0,003


5. 
[image: https://provereznanja.rs/wp-content/uploads/2023/01/Bez-naslova-24.png]
a. 121
b. −11
c. −121
d. 11

6. √50
a. 5√2
b. 5√10
c. 10√5
d. 25






7. 
[image: https://provereznanja.rs/wp-content/uploads/2023/01/Bez-naslova-25.png]
a. -5√5
b. -19√5
c. 16√5
d. 5√5


8. 
[image: https://provereznanja.rs/wp-content/uploads/2023/01/Bez-naslova-26.png]
a. √7
b. 5
c. 7
d. 25


9. 
[image: https://provereznanja.rs/wp-content/uploads/2023/01/Bez-naslova-27.png]
a. 12,345(67)
b. 3,123965783405332...
c. 25√25
d. 51√4


10. 
[image: https://provereznanja.rs/wp-content/uploads/2023/01/Bez-naslova-28.png]
a. √113
b. √23
c. √223
d. 3√113
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